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itk 75-1250
T{EEF2E(mm) 75-1250
EFRITIE(mm) 75-1250
FEHL(KQ) 5-10-20
PEHERZE +5%
BILERIMEE (%) 0.15-0.1—0.08—0.05—0.04
E=paclid 0.01mm
ERl TIFER <TuA
NSRS ERIFV R K E) 10mA
REFRALIEER 42V
S RE- A EBRNBRURERELE HRAYE 5 ppm/K
#2#3EEPE(500VDC, 1bar, 2s) =10MQ
#@#x58E (50Hz, 2s, Ibar, 500VDCQ) <100 uA
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NARRE(A) 194 -1383
FEWITIE(M) 82.5-1266
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EESO <0.4N
KEFSE <1.1N
RIGZE
mEEE -40 ~100° C
s E=hy >50X 106X
MEEER 50g -+ 6ms
TIEEE 10m/s ®\XK
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ERF-75 ERF-100 ERF-150 ERF-175 ERF-200 ERF-225
RUgE 75 100 150 175 200 225
T{EEE(mm) 75 100 150 175 200 225
ERITFE(mm) 75.5 101 151 176.5 201.5 226.5
FEH(KQ) 5 5 5 5 5 5
BILRIEE (%) 0.15 0.15 0.1 0.1 0.08 0.08
NRRE(A) 194 219 270 295 321 346
EMITIZE(M) 82.5 108 158 183.5 208.5 2335
ERF-250 ERF-300 ERF-350 ERF-375 ERF-400 ERF-450
RUgR 250 300 350 375 400 450
T{EEFE(mm) 250 300 350 375 400 450
ERITE(mm) 252 302 352.5 377.5 403 460
FEHUKQ) 5 5 5 5 5 5
BILARIEE (%) 0.05 0.05 0.05 0.05 0.05 0.05
NEZRE(A) 372 423 473 498 524 574
EWITIE(M) 259 309 359.5 384.5 410 460
ERF-500 ERF-550 ERF-600 ERF-650 ERF-700 ERF-750
Bige 500 550 600 650 700 750
T{EEF*E(mm) 500 550 600 650 700 750
ERITIZ(mm) 503.5 553.5 604 654 704.5 754.5
BEH(KQ) 5 10 10 10 10 10
BIRIEE (%) 0.05 0.05 0.05 0.05 0.05 0.04
NBRE(A) 625 676 726 776 827 877
EITIE(M) 510.5 560.5 611 661 711.5 761.5
ERF-800 ERF-850 ERF-900 ERF-950 ERF-1000  ERF-1250
RUgE 800 850 900 950 1000 1250
T{EEE(mm) 800 850 900 950 1000 1250
ERITFE(mm) 805 855 905.5 955.5 1006 1259
FEH(KQ) 10 10 10 10 10 20
BIRIEE (%)
NEBRE(A) 928 978 1029 1079 1130 1383
EWITIE(M) 812 862 912.5 962.5 1013 1266
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E55:0965-597-166
E55:0927-725-775
BR{4:sales@tw-ycs.com
HBuG:www.tw-ycs.com
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